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Unit Il — First Degree Relations with One Placeholder
Part A — Basic Equations and Inequalities
Lesson 1 — Solution Statements and Solution Sets (pagel)

For each of the following solution statements, give the solution set using set notation
(roster if possible) and using the given number line.
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For each of the folloring solution statements, give the solution set using set notation with the rule
method and also using a number line.
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For each of the following solution statements, give the solution set using set notation
(roster if possible) and using the given number line.
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For each of the folloring solution statements, give the solution set using set notation with the rule
method and also using a number line.
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